1.5 Even answers

2. Salving w9 2 2 vequires a compound inequality
joined by "and.” Solving (v — 9] 2 2 requires a compounid

inequality joned by “or”
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14. all veal numbers
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1.5 Even answers
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22, The compound mequality should be joined by “or’ and b
mnequality svimbaols are reversed; v+ 4 < 13 ory + 4>
v =1 Tore=t
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32, false: Ircould also be g solution ol v + 3 € —8,
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36. Sample answer:
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1.5 Even answers

38, Sumple answers |x - 2] 2 3; v —2l<3iv =25k

L 2> 30 A segment indicated <L two opposile ravs
indicated >, and an open or closed crele indicated whether
or not to add “or equal o

46, 6« v T Sumple answer, Solve cach inequality, then draw

g sketoh of the 2 solutions on the same number Line o see
where they intersect
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